
SAP ABAP table EFHM {PRT fields in equipment master}

EFHM

MANDT [CLNT (3)]

EQUNR [CHAR (18)]

WERKS [CHAR (4)]

OBJID [NUMC (8)]

OBJID_V [NUMC (8)]

STEUF [CHAR (4)]

FGRU1 [CHAR (4)]

FGRU2 [CHAR (4)]

PLANV [CHAR (3)]

KTSCH [CHAR (7)]

BZOFFB [CHAR (2)]

EHOFFB [UNIT (3)]

BZOFFE [CHAR (2)]

EHOFFE [UNIT (3)]

MGFORM [CHAR (6)]

EWFORM [CHAR (6)]

PAR01 [CHAR (6)]

PAR02 [CHAR (6)]

PAR03 [CHAR (6)]

PAR04 [CHAR (6)]

PAR05 [CHAR (6)]

PAR06 [CHAR (6)]

PARU1 [UNIT (3)]

PARU2 [UNIT (3)]

PARU3 [UNIT (3)]

PARU4 [UNIT (3)]

PARU5 [UNIT (3)]

PARU6 [UNIT (3)]

CRID

MANDT [CLNT (3)]

OBJTY [CHAR (2)]

OBJID [NUMC (8)]

 EFHM-OBJID = CRID-OBJID 

0..N

0..N

 EFHM-OBJID_V = CRID-OBJID 0..N

0..N

EQUI

MANDT [CLNT (3)]

EQUNR [CHAR (18)]

 EFHM-EQUNR = EQUI-EQUNR 
0..N

0..N

T000

MANDT [CLNT (3)]

 EFHM-MANDT = T000-MANDT 

0..N

0..N

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 EFHM-WERKS = T001W-WERKS 

0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 EFHM-EHOFFB = T006-MSEHI 

0..N

0..N
 EFHM-EHOFFE = T006-MSEHI 

0..N
0..N  EFHM-PARU1 = T006-MSEHI 

0..N
0..N

 EFHM-PARU2 = T006-MSEHI 

0..N

0..N

 EFHM-PARU3 = T006-MSEHI 0..N

0..N
 EFHM-PARU4 = T006-MSEHI 

0..N

0..N

 EFHM-PARU5 = T006-MSEHI 

0..N

0..N
 EFHM-PARU6 = T006-MSEHI 

0..N

0..N

T435

MANDT [CLNT (3)]

VLSCH [CHAR (7)]

 EFHM-KTSCH = T435-VLSCH 
0..N

0..N

TC20

MANDT [CLNT (3)]

PARID [CHAR (6)]

 EFHM-PAR01 = TC20-PARID 

0..N

0..N

 EFHM-PAR02 = TC20-PARID 

0..N

0..N

 EFHM-PAR03 = TC20-PARID 

0..N

0..N

 EFHM-PAR04 = TC20-PARID 
0..N

0..N

 EFHM-PAR05 = TC20-PARID 
0..N0..N

 EFHM-PAR06 = TC20-PARID 

0..N

0..N

TC23

MANDT [CLNT (3)]

PLANV [CHAR (3)] EFHM-PLANV = TC23-PLANV 0..N

0..N

TC25

MANDT [CLNT (3)]

IDENT [CHAR (6)]

 EFHM-EWFORM = TC25-IDENT 

0..N

0..N

 EFHM-MGFORM = TC25-IDENT 0..N

0..N

TCA54

BZOFF [CHAR (2)]

 EFHM-BZOFFB = TCA54-BZOFF 

0..N

0..N

 EFHM-BZOFFE = TCA54-BZOFF 
0..N

0..N

TCF10

MANDT [CLNT (3)]

STEUF [CHAR (4)]

 EFHM-STEUF = TCF10-STEUF 

0..N

0..N

TCF12

MANDT [CLNT (3)]

FGRUA [CHAR (4)]

 EFHM-FGRU1 = TCF12-FGRUA 

0..N

0..N

 EFHM-FGRU2 = TCF12-FGRUA 

0..N

0..N


